TE v
c % A — & — o 3
T8 BHEXXYRTF—=Y / T=—TWH414X 160%X124
R - . ! >
4  Motorized X, XY Linear Stages / Table Size 160x124
2
WEE
82 o
SR g
N o
g,_" 7]
x% 3
? XA16A-R1 XA16A-R201
7_-
13
Z
N 7/ g
o
5]
[4)
@ YA16A-R1 YA16A-R201
g e
% = @ XA16A-R1 @ YA16A-R1
=)
(320) f -
(104) 56 160 E
22 110 o i b
E { 920 Leeeal
® /N
=) 60 0 [c ©
5 40 STl 8
= 30 S
z L L e
- 2 Rd
= i u p i ++ ++
o i [ ® o144 + | &
) = ' ofolololols E' al FniE A =1
g @OJ++ n*:—m[qom‘:"g I Hﬂ@o ++* +++ =
2 i
E HE B / i = e | el
:I/" Index = = —
= 4-M5 Depth 8mm N
g 8-M3 Depth 8mm 5 (178) 124 18
§ M5 Depth 8.5mm 8M4 Depth 8mm
@ CCW oW
i «— —
[¢)
2 CW Limit Sensor Home Position | g
5 o CCW Limit Sensor
S q T T =)
{i@ i P L g e B 8
i 110
9 4-for M5 screws [J110 9
%] 4-for M5 screws Shaft length 7mm
= Shaft length 7mm
@
3
i @ XA16A-R201 @ YA16A-R201
(315) m
(104) 51 160 J | J L ES
110 By - 2
90 I EED
60 60 o ® o @ |
40 \ NER D o &
sH 2 30, 5
2 7¢ o ~
E 3 E_l © ®
S 'Te ° .
o7 - < M 3
~ o (=} —
£ o g : EEEEER P &
s 9| ) / — ° e
= o8 Index ~ | — °;
23 % 4M5 Depth 8mm a
= 8M3 Depth 8mm 84 Depth 8mm ~
& I (173) 124 18
M5 Depth 8.5mm
CoW  CwW
«— —>
=7
87 s
_g U CW Limit Sensor Home Position —
3 I|) al CCW Limit Sensor (TSI 0
— = { k T C=5m A m,J c“njl = I \a? T3 ] &
52 *§ o L wo | 9 [J110
g §~. :i - 4-for M5 screws 4-for M5 screws
Sh=2 Shaft length 7mm Shaft length 7mm
I
H-028  coONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail]e-sale@kohzu.co.jp [URL]http://www.kohzuprecision.com



PV / 7A2A=FH1F / BEIRD, =3xS

Aluminum Body / Cross-Roller Guide / Ground Screw, Ball Screw

B
Model Number

BsFEVEN

Mirror Model Number

F—7IVE
Table Size

XA16A-R1

XA16A-R1-R

YA16A-R1

YA16A-R1-RRR

XA16A-R201 YA16A-R201

XA16A-R201-R YA16A-R201-RRR

160mmXx124mm

ERHR

Guide Mechanism

BHEI/OZAO0—FHCK
Cross-Roller Guide

B EEEE

Motion Range

+25mm

+30mm

EYHR

Lead Mechanism

BEI%Z, U—K 1.0mm
Ground Screw, Lead 1.0mm

R—Ix2, J—K 2.0mm
Ball Screw, Lead 2.0mm

DIREE o Full/Half Step

TIWV/IN=T ATV T

2um/1um

4um/2um

Resolution ~

NAYART YT (1/20%%)
Micro Step (1/20 div)

0.1um

0.2um

RERE

Maximum Speed

10mm/sec

20mm/sec

R —NRE

Accumulated Lead Error

=10um/50mm

=10um/60mm

R U EIROIEE
Repeatability

=+0.5um

=+0.2um

OANE—23>
Lost Motion

IKFE

HEE Horizontal

=1um/50mm

=1um/60mm

Straightness FEE

Vertical

=2um/50mm

=2um/60mm

NYTZva
Backlash

=1um

=0.5um

E—XUMITE
Moment Load Stiffness ~

0.01 arcsec/N-cm

0.03 arcsec/N-cm

0.01 arcsec/N-cm 0.03 arcsec/N-cm

KRR
Load Capacity (Horizontal)

294N (30ksf)

254.8N (26ksf)

254.8N (26kgf)

294N (30kgf)

HE

Material

TILIES
Aluminum Alloy

S8
Finish

Btk
Clear-Matt Anodizing

BE
Weight

3.6kg

7.2kg

3.6kg 7.2kg

BEXE

Perpendicularity

=5um/50mm

=5um/60mm

SIEATYEVJE—5—
5 Phase Stepper Motor

PK566-B(#U I &I E—4%—: EI&ER 0.75A/M, EART Y7 0.72°, U—K#104)
PK566-B (Oriental Motor: Phase Current 0.75A, Basic Step Angle 0.72°, 10-Leads)

xR Af20E> (eOt: PC-1620, P-1620A-STA)
Connector 20Pin Rectangular (Hirose: PC-1620, P-1620A-STA)
RF—IHEGRAT |,
Stage Wiring Type = X1
R F101(HOME.LIMIT), F107(INDEX)
ensor Model
o ¥210,000 ¥420,000 ¥240,000 ¥480,000
rice(JPY)
F—N—h—I& - - - -
Overhaul Price %5 ¥60,000 ¥120,000 ¥60,000 ¥120,000
IV—=2J) A
Clean Room Lubricant Change Price ¥48,000 ¥96.000 ¥48.000 ¥96,000
B2 ) AR E
Vacuum Lubricant Change Price ¥48,000 ¥96.000 ¥48,000 ¥96,000
[EIE—8—3H0E - ~ ~ -
S S iy Chiengs B ¥15,000 ¥30,000 ¥15,000 ¥30,000
ERE——BE ~ ~ ~ ~
Different Size Motor Change Price e ¥36.000 ¥72,000 ¥36.000 ¥72,000

%1

BFEV. BEROMEHFICOVTIEH-005N—U 28R L TTE0,

Refer to page H-005 for Information on Standard and Mirror Symmetry

Configuration.

w2

AT =V ORBEIEIN—TATY T TII>THEVET.
Stage is inspected by half step setting.

%3 XAT—VBEDE—X Y MIERO—IVBAIRERYET,

Moment Stiffness of single X stage is measured in Roll Direction.

%4

AT —IAER DI DO TIEN-034 N-035R—D & BB L TTF X0,

Refer to page N-034,N-035 for stage wiring connection information.

F—IN—R—IBIIK
x5 BBLTFEL.

HmlEESENELA. F#RICOVTRIIERN-D%

Additional parts cost is not included on Overhaul cost. Refer to page 16 for

further information.

WIS HE—Z—3> bO—F - RTA/NIDVTIEN-002R—=T BB L TTELY,
Refer to page N-002 for information on corresponding motor controller and driver.
ST BE—Z—T =TI DVTIEN-018RX—TZBB L TTFEL,

Refer to page N-018 for information on corresponding motor cable.

BEVAEDEIITEL:044-981-2131,/FAX:044-981-2181

V=2V AEHOBRIEKEIC “-C " PFEET. FHMCDOVTIE

g C-00N—TZBRLTTEL,

Clean room lubricant model has “-C” at the end of model number. Page C-005
for further information.

BT AEHROBKEFRREIC V" HPEEET. FHBICDOTIXC-005X

w7 —VEBELTFEL,

Vacuum lubricant model has “-V” at the end of model number. Page C-005 for
further information.

xg TX —HRDFEFMICDONTIEC-004N—2 2 BB UL TR EL,

Page C-004 for further information about motor change.

TP VICDNTIEO-00IRX=S & BB L TT L,
Refer to page 0-001 for information on accessory.
BEFRODCEZICKVREROYEL AN ET .
FHLCREEBETBROEDET XL,

We appreciate the product customizing. Contact us for further information.

[E-mail] sale@kohzu.co.jp [URL]http://www.kohzu.co.jp

S10NPOId WSISAS Boji~yISI\”

98e1S [enueiN \\—\ISNEIZRE

S0JU0J108[3

walsAs
uonoadsul|

DNIN\C

=

MR

lelsnpuj

M

|eluswadxy

X
<X-X

V4
N

Him

uoneloy

%]
S
<
jul
El
=

2
14
N
)
=]
2

Him

(upieams uonejoy

(SHIL) S 2AN

\=NINT VAN

5B
(g’g
-2
2
Q <
0(%/

N 0T%)

bt

S81I0SS800Y
—FRNN

o
N
©



